2000LBS ENGINE STAND

Heavy-duty steel frame construction 360° rotating head lock in 6 positions,
disassembles quickly and easily for storage and transportation.

CAUTION

I. Do not exceed the maximum capacity of 20001bs.

. Use only on hard level surface.

. Never attempt to move loaded stand across floors having cracks or other
obstacles which might impede movement of wheels.

. Never work directly under a supported engine.

. Be sure load and stand are stable.

. Periodically inaect atand to omsire ots safe operation.

. failure to follow any of there instructions may result in property damage
and/or personal in jury.

[USIN S)

~ N L

Number | Name Quanlitﬁ
1. Rear Gross Beam 1
2k Vertical column 1
31 Turning plate 1
4. ASS’ y to slower speed 1
5 Shifting stand 4
6. Spring Washer ¢ 14 4
7 Bolt M 14x60 4
8. Bolt M 10x25 2
9. Spring Washer ¢ 10 2
10. Nut M10 2
11. Table 1
12. Bolt M8x35 4
13. Spring Washer ¢ 8 4
14. Nut M8 4
15 Bolt M14x80 3
16. Nut M14 , 3
17 Spring Washer ¢ 14 3
18. Nut 1
19. Handle 1
20. Support 2
21. Bolt M10x90 1
22. Spring Washer ¢ 10 1
23. Nut M10 1
24. 3" Universal Wheel 4
25. Bolt M10x75 2
26. Spring Washer ¢ 10 2
27. Nut M10 2




